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1. #HE%

It is important for children to learn the difference between right and wrong at an early age.
Punishment is necessary to help them learn this distinction. To what extent do you agree or
disagree with this opinion? What sort of punishment should parents and teachers be allowed to
use to teach good behaviour to children?

(610 Test 1)

2. ek
Countries are becoming more and more similar because people are able to buy the same products
anywhere in the world. Do you think it is a positive or negative development? ( &l 10 Test 3)

3. B
Governments should spend money on railways rather than roads. To what extent do you agree or
disagree with this statement? (&) 11 Test1)

4. NMRESH

Some people claim that not enough of the waste from homes is recycled. They say that the only
way to increase recycling is for governments to make it a legal requirement. To what extant do
you think laws are needed to make people recycle more of their waste? (&l 11 Test2)

5. Rk

Nowadays the way many people interact with each other has changed because of technology. In
what ways has technology affected the types of relationships people make? Has this become a
positive or negative development? ( &l 8 Test 2)

6. JBgE

Some people believe that there should be fixed punishments for each type of crime. Others,
however, argue that the circumstances of an individual crime, and the motivation for committing
it, should always be taken into account when deciding on the punishment. Discuss both these
views and give your own opinions. (&l 7 Test 2)
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B2 (QIN) Test1 Task 1 :

WRITING TASK 1
You should spend about 20 minutes on this task.

The graph below gives information from a 2008 report about consumption of
energy in the USA since 1980 with projections until 2030.

Summarise the information by selecting and reporting the main features, and
make comparisons where relevant.

Write at least 150 words.

U.S. Energy Consumption by Fuel (1980-2030)
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B2 (QIN) Test2 Task 1 :

The chart below shows the total number of minutes (in billions) of telephone
calls in the UK, divided into three categories, from 1995-2002.

Summarise the information by selecting and reporting the main features, and
make comparisons where relevant.

Write at least 150 words.

UK telephone calls, by category, 1995-2002

Call type: il Local - fixed line
4l National and international - fixed line
M Mobiles (all calls)

g

Minutes (billions)
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B2 (8t) Test1Task 1:
The table below gives information on consumer spending on different items in five different
countries in 2002.

Summarize the information by selecting and reporting the main features, and make comparisons
where relevant.

Percentage of national consumer expenditure by category — 2002

28.91% 6.43% 2.21%
16.36% 9.00% 3.20%
18.80% 6.51% 1.98%
15.77% 5.40% 3.22%
32.14% 6.63% 4.35%
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BEE (8I) Test 3 Task 1 :



The charts below give information on the ages of the populations of Yemen
and Naly in 2000 and projections for 2050,

Summarise the information by selecting and reporting the main features, and
make comparisons where relevant.

Writo at loast 150 words.
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B2 (Q/\) Test 1 Task 1 :



The pie chart below shows the main reasons why agricultural land becomes
less productive. The table shows how these causes affected three regions of
the world during the 1990s.

Summarise the information by selecting and reporting the main features, and
make comparisons where relevant.

Write at least 150 words.

A

Causes of worldwide land degradation
J& 1\ deforestation
$ A l

mm/
30%
\L/over—qmuon

Causes of land degradation by region

L Region \ % land degraded by...
over- | over Total land
Gelorestabon | - mvation | grazing degraded
North America 02 33 15 5%
Europe 9.8 77 55 23%
Oceania® 1.7 0 13 13%

* Alarge group of Istands in he South Pacific ncluding Austrasa and New Zealand
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BEEB (8IN) Test1 Task 1 :
The two maps below show an island, before and after the construction of some facilities.
Summarize the information by selecting and reporting the main features, and make comparisons

where relevant.
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EEE (8/\) Test 3 Task 1 :

The diagrams below show the stages and equipment used in the cement-making
process, and how cement is used to produce concrete for building purposes.

Summarise the information by selecting and reporting the main features, and
make comparisons where relevant.

Write at least 150 words.

Cement Production Concrete Production

Cement

*Gravel = small stones
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BEEE 1. Do you agree or disagree?
2. To what extent do you agree or disagree?
3. Do you think it is a positive or negative development?
4. Do you think advantages outweigh disadvantages?
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HESR (@l 11) Test 1. Governments should spend money on railways rather than

roads. To what extend do you agree or disagree with this statement?

PRI U

E L Discuss both views and give your own opinion.
LULEIENTS ERERD LIRPRBITIE
NEE FELRR (HLAREBCHEE , BaLIRIISHA )

ERERD (=BR)

1. TFFIESHIMA

2. HFRITHINR

3. HEAMA
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T EAREORE=R (LHBECUR ) AILNSRRES.

HESR {81l 11) Test 3: Some people say that the only reason for learning a foreign
language is in order to travel or work in a foreign country. Others say that
these are not the only reasons why someone should learn a foreign language.

Discuss both these views and give your own opinion.

3IRES
= [EES Why has this happened and how to deal with this?
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BEisR {1 8) Test 2: Nowadays the way many people interact with each other has

changed because of technology. In what ways has technology affected the
types of relationships people make? Has this become a positive or negative

development?
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